T

it fEas (AN01)

TH4 | R2EL HER i LE EFREER HEN Sy 7)1 e fes
THEX5 SRR
THX 5y - AR - 85 - A0 Biks HLAZ ¥ (mifa)) e (4m) sl e
FIR R
= 1
)+
= 1
A T
= 1
el TR, T AT Ty
I, it TR 5, 000m3 A
m3 490
KT
= 1
FE A (BEE2) R+ i e B 2. 5mAil
m3 100
FRTALH T
= 1
R B G- EAIR Y L&)
m3 460
7% Ly
m3 460
RS
= 1
EZ R VALY R W EVZA R VAP ) =)
= 1
- e




= L. B9\
T HE e

fhZe (AR01)

TH4 | R2EL HER) E-EZEHE #FLFE GEFRECR HEX Sy iy )1 el fies
THEX5 LR
THXSy - THE - R - ) Biks HLAZ ¥ (mifa)) R (4[] KRR e
EVZA R VAR-PY RS av) ) =A% (18-8-40BBorN W/C=60
K m 39
ENVZARIVAESYE 77y ) HkE  $5350
m2 136
Kigavy)=h av)) =% - (18-8-40BBorN W/C=60
K m3 5
/ANAdkas))-h av) ) =A% (18-8-40BBorN W/C=60
K m3 1
HEsE e L
= 1
¥+
= 1
PRHE Y (HEH) TE b
m3 180
R L L B, BRHRBEE ¢ Il R AmA
" m3 90
LT T HERE T (RS BAT)
= 1
) A ke AR ) ) - g : (18-8-40BBorN W=
60%) n3 46
f i T
= 1
P TR U




T ERTEER (401)

TH4 | R2EL HER) E-EZEHE #FLFE GEFRECR HEX Sy iy )1 el fies
THEX5 LR
THXSy - THE - R - ) Biks HLAZ ¥ (mifa)) e (4m) KRR e
L
= 1
LB {3 g 30cm, /5 & 140em, 2v7) - MHEK: (18
-8-25BBorN W/C=60%)
m 35
TRt
% 1
3T B T
m 4
LIE-
= 1
R
m2 88
BT
= 1
25 P B 0:‘/7')%%,%%: (18-8-40BBorN W/C=60
K i i 2
HEEME L
= 1
OGS EUE L T
= 1
av) ) - LR AL B WEEY) X oy I AEEY), LX)
BpcE 1
m3 81
L TR U




2R

=. Y/

RfEZR (AN01)

Hj

TH4 | R2BEL HEW) k- EEH% #FLF GEFRET HEN Sy 7)1 e fes
THXSy SRR
THX 5y - AR - 85 - A0 Bikk HLAZ ¥ (mifa)) e (4m) sl e
Rz L
= 1
BRI
= 1
RGER7" ey 2 - PR E
G 20
KA 5 B - R E
% 4
[EREMIE: -
= 1
B ST
= 1
@R A
= 1
il By
= 1
= 1
M@kt (G L)
= 1
ol T
= 1
- TR I




T ERTEER (401)

TH4 | R2EL HER) E-EZEHE #FLFE GEFRECR HEN Sy 7)1 e fes
THEX5 SRR
THX 5y - AR - 85 - A0 Biks HLAZ ¥ (mifa)) e (4m) sl e
U5 B
= 1
LU
= 1
— A B
= 1
T HAfliks
= 1
THEBIRE K Ol 5 1 e B
= 1
THEF
= 1

=N

i



